Dealing w/ Two Suit Interferences
By Dan Voorhies Oregon Trail Regional February 22, 2011

I. If opponents bid UNUUSAL NT (2 lower unbid suits) over 1 of your major, e.g. 1H-2NT, then bids by Openers partner are as follows:

a. Pass

b. DBL = This says that responder can double at least one of their suits for penalty and promises another bid

c. 3C = Limit Raise or Better for Partner’s Major (This is the LROB cue bid and says nothing about clubs). Opener should alert the 3C.
d. 3D = Non-forcing free-bid in other major. Opener should alert the 3D. Responder needs 8-11 (working) HCP – so he should subtract values in over callers 2 suits.

e. 3H or 3S (partner’s major) = 7-9+ dummy points, being careful to discount quacks in the minors

f. 3NT = Natural and to play

g. 4H or 4S (partner’s major) = Pre-emptive with 5-car support

h. Over Opener’s 1S, 4H is a splinter

i. Over Opener’s 1H,  4S will be to play with a GREAT suit and values to make game

II. If opponents bid UNUSUAL NT (2 lower unbid suites) over 1 of your minor, e.g. 1C-2NT, then bids by Openers partners are as follows:

a. Pass

b. DBL = This says that responder can double at least one of their suits for penalty and promises another bid

c. 3C = Competitive (not a good Limit Raise)

d. 3D = Cuebids in lower ranking opponents suite = (LROB)

e. 3H = cue bid of hearts showing non-forcing free-bid in spades with 8-11 HCP and 5+ Spades)

f. 3S = Forcing and shows 5+ spades and 12+ HCP

g. 3NT = Natural and to play

h. Splinters if the bid is one of their suits

i. 4S = 7 card suit and values for game

III. If Opponents use Michaels over a minor (1C-2C or 1D-2D)

a. Pass

b. DBL = This says that responder can double at least one of their suits for penalty and promises another bid

c. 2H = Cuebids of opponent’s suit showing LROB of partner’s minor

d. 2S = Non-forcing free-bid (8-11 HCP in unbid minor with 5+ cards)

e. 3of partner’s minor = Competitive

f. 3 of new minor = Game Force 

g. 2NT = Obvious invitation

h. 3N = Natural and to play

IV. If Opponents use Michaels over a major (1H-2H or 1S-2S which shows the other major and an unknown minor)
a. Pass

b. DBL = This says that responder can double at least one of their suits for penalty and promises another bid

c. 2NT = Invitational with their major stopped

d. 3C = forcing and natural

e. 3D = Fording and Natural

f. 3 of Partner’s Major = Competitive (7-9+ or a bad 10HCP)

g. Cue bid of their major = LROB for partner’s suit

h. 4 of partner’s suit = pre-emptive

